PDF 2022 9 Web
»P.698 »P.754 »P.754
22RI53 L BT
] 1 _ 5 ‘@H’
e Y EHS—" 2168 | 3 )

FIRRARD O Y EIC KD D EWVIITHiD T ATEE,

IREIDR ITNZRALTI STy FORDOFMIF®. Y MAS—DEENTEXT,

“

IJYERS—CBIE

o
@F‘ ”
SCK20155N2
i
SUS304
MBS MERENIE B FEXHI
" E—
ANANRARIL b (SCM435, BEo) 14
N SCK 1015 N2
s = ST 74 E (SUS304) 118 ) ) ;
AT AL b (SUSXMT) 175 PIE10mm. #&15mm. R
S E e
Q| o i et
S| &
N
d
L/2
L+0.1 =—{ 1 [0.01]A]
KIREICTED BB AE RMICH TTTEREE,
ESVN fiit& ()
RE | BB | MR AN 2% .
#B | L | ¢D v | eem 28| X M mEY o BB | SUS304
(o] s
10 | 15 | 35 | M4xP0.7 24 12.1 95 | M6%X18 SCK 1015 |N2 1,150 1,690
12 | 15 | 38 | M5xP0.8 24 121 | 105 | M6%x18 SCK 1215 N2 1,150 1,690
15 | 15 | 40 | M6XP1.0 28 121 | 12 M6 X 18 SCK 1515 N2 1,260 1,800
16 | 15 | 42 | M6xP1.0 28 121 | 12 M6 X 18 SCK 1615 N2 1,260 1,800
20 | 15 | 46 | M6XP1.0 34 121 | 14 M6 X 20 SCK 2015 N2 1,370 2,130
25 | 15 | 50 | M6XP1.0 38 121 | 165 | M6%20 SCK 2515 |N2 1,480 2,350
30 15 56 | M6XP1.0 44 12.1 19 M6 X 25 SCK 3015[ N2 1,590 2,780
35 | 20 | 65 | MBXP1.0 48 141 | 225 | M6%35 SCK 3520 |N2 1,800 3,330
40 | 20 | 70 | M6XP1.0 56 141 | 25 M6 X 35 SCK 4020[ N2 1,970 4,310
50 | 20 | 85 | M6XP1.0 68 141 | 295 | M6%35 SCK 5020 |N2 2,510 5,510

4
’

iwata



